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QUESTION 1

Which two statements are true about CellCLI?

A. Using a CellCLI command, you can change the SNMP subscribers or add multiple SNMP subscribers.

B. Using CellCLI, you can stop and start the ASM instances that are using the grid disks on the Exadata storage cell.
C. With a simple CellCLI command, you can synchronize changes to all the storage cells in the Exadata realm.

D. Using a CellCLI command, you can see whether grid disks are being used by ASM or not.

E. You cannot use CellCLI to gather the serial numbers of physical disks.

Correct Answer: BD

QUESTION 2

The Exadata compute node, exadbs04, has been having issues for some time. The server had to be repaired and you
just received a new server. Your LVM snapshot was corrupt and now the compute node must be re-image with an
Oracle Support installation image. Which three tasks would you need to perform to re-image the compute node?

A. Mount the LVM backup image across the network and recover the system.

B. Remove exadbs04 from the RAC cluster and all associated Oracle Homes from the central inventory.

C. Create a CELLBOOT USB Flash Drive using an external USB drive.

D. Reboot the new server using a bootable recovery image from the external USB drive.

E. Reconfigure all site-specific settings (host name, IP addresses, NTP server, and so on).

Correct Answer: BCE

QUESTION 3

Which is a best practice for High Availability (HA) in an Exadata environment?

100% Real QandAs | 100% Real Pass

A. Checksums performed on the Exadata Storage Server ensure logical consistency of block content.

B. When a standby database is in place, DB_BLOCK_CHECKING is not required and thus not recommended.

C. Oracle Exadata Storage Server Software HARD checks operate transparently after enabling
DB_BLOCK_CHECKSUM on a database.

D. Due to the different architecture that Exadata has with storage servers, compared to regular Storage Area Network,
DB_LOST_WRITE_PROTECT need not be set.

E. Stretched RAC is the best alternative for Exadata that combines both HA and DR into one.
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Correct Answer: C

QUESTION 4

The mpstat output from OS Watcher shows a database node as being 90% idle on an average. What would you do to
get a full picture of CPU utilization on the entire Exadata RAC cluster?

A. Average the mpstat id1 output from all the nodes.

B. Ask application users if they have noticed a slowdown in screen response.
C. Look for an increase in batch job servicing times.

D. A and B above

Correct Answer: A

QUESTION 5

You are concerned about how recovery from a failed Exadata Storage Server would work. Which statement is true
about the Exadata CELLBOOT USB?

A. Exadata automatically copies OS binaries and configuration files from another cell during patching to sync the
internal USB.

B. Regular Exadata Storage Server patches make sure that the internal USB is updated so that it can be used for
recovery.

C. Changes to network configuration files are possible without using ipconf.pl as long as all relevant files are updated.
D. Some space from the CELLBOOT USB is used for cache metadata when write back flash cache is enabled.
E. Each patch that is performed on Exadata storage servers requires manual resync of the CELLBOOT USB.

Correct Answer: AC
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